e/ = 74
YUNNUaAId

F9UNTIU  naewrde d1nineuesn1sud s beemob
A J v o
N 97 v&oe.cboe/ 1. 00\5 AUN = unsAl o&om

= & & = ar a ’F d ] =
94  windwduazuinisuinnssuludgduinnssulvefiasuatgimuadnilunisusznia

anb.

Tunzilputnyduinnssulve Wouwgrinieu eevle
Beu  Awe d1idn @andu

dislusamsu Fes “ndndnsiuazuinisuiansslutyduianssalneiiasuany
fvuadvslunisuszniatunadoutyfuinnssulne Woungainiey wese” seazduana.
wilsdofl U odme.o/2 o AU los WYAINIBU bdols AIUUU @M50 Download Foyaifinifs
Ieulerinaands shde “mideiiow” www finance kuac.th

o o =
WLIBUIN LW@I‘LJ?WVW”[‘U

st d Nt
(W9EMATIET NauwW)
EEUIINITNDIAGS



- . _ Novnaw
’ UH’ID smans
ombgpppsnaa|
| sy 8 8 S7. ERDE
oan...... VD ND U

o ’ w
91 W omnele/) EC]\ ' . dnlinauuszan

<
AUUNSETIA B AFUNNT eocoo
bect/ NOAINIEY bdole

P - a ¢ - s woosl ow o [J i .¥ o
599 nandusinaruinmsuinnsailudyiuinnaalvefnsvargimundnslunmsyssnedungden .
Tdudnnssulve Weungainiay evl NBIALY ?ng"ﬁlglﬁ g3fmani

- o w v o ar o - 1 P 5'1‘“51.!“ """"""" 5- ﬂ ------ Z’"E\", ......
& Gou Yaansznsn Fawhdwswms S§lamte uasmienudu w24 ol

el b3 e o ar [y = L) ot o . 3_ ] N
devdaniy 5’]El‘ljawam.ﬂm‘nLLﬁSUiﬂ'ﬁ'N’J(ﬂﬂﬁ'i!J'Vlﬂ?‘U'ElWQﬂﬂﬁuﬂaﬂg‘luﬂ’liU'iﬁﬂ'lﬂ‘!]‘lJVISLUU'U

L

Ugdudanssulve Woungadneu eedle $u bam wih

< ar Vol o d o o L o L3
muinuessunsialiuideiun be dutiou beds sumNENITENTINe AR
L7 o oo . o or ar ar aa,
wasnAlulad Wagtudewdunsensamsgaudne Inernans deussuinnss sumsesedyd®
w v o Q w w = 3 =
USuUnTEnsn v s @R o) WAL o) Tnedninnuiauiveimansuasivalulad
1 - 1 ey, = L g - a J 4’
wisd (@ang) unireassevguaniivewdndasinasuinsuinnssufivetunaideu
UyBuinnssulve wasbidwinulssanadumiionsageunaivemdadudiasuinmsuinnssy
al (Y7 & v s 1 ar LY @ ol o ar
iriunsasndeuRuantAudy Saumidnitiasyssmadyduinnssulve Yaquuilindntueiuay
N o d ¥ ar ot o s 1
vimswinnssuivssmadulyiuianssilvy 9 ade wau (Audifouuniay beex -
AAAN lbdolo) U

dnlnsudsenna “ua|.L'~3'\1'iﬂU'?'iamﬁmﬁ’mﬁuasu%miui’mn‘ssu'luﬁ’fg%'ui’mnisu'lﬂﬂﬁﬂsu
ogimusdvslumsussniatunadeutyduimenine ludeungrinioy eve sonsintyd
uinnsauing dwou & wasw el Wikanwdfull o funen e Wuduly swazdus
Usanganudaiidandny

¥
- < - e ' ]
JSpunnelusanIuuaziioujifsely Ay,

-k v e -
@ GOU Fonen1inavnag YOLARIAIITURD

4 - 7
wialusaRarson | L
| ﬁ 6%“" (Fdemansansdygutn i)

MsyK)
%)/ : sosedmudidhanisiu
" ueeAdan o awal) o
bH .8 bddh 26 SA 2%

gnenmsdiniudssin

@ Seu 5°°°%N5“;’{"ha’”“t}“ ............
ey Wahging AL G

v JBIU‘SFl?l'i'IUMhﬂ'!'E’L\!u ay d1en
anvu LUU‘UE}M"-UJ’B\:GIUEI’JI'I'}'.‘G\'E AN

-
Welusaduilunisdsly
NBANTFINIUYTTI b P

v 8 o

3. o wobd axwo Uiy o blobé lnhoc«wi fi. h{bh o 0

W3 o bl oo @) g, fosdd 3"]5;‘ ..... ba‘“%”dé .............. . 25 SA 2567
) — LwamﬁﬂmwuavmLuum“ma

=2 A 25



ol o ar
N U odlme.lo/ Eé Arunduuszuncy

DUUNTETWN b NFUNNT eocoo
bt/ NOAINIEY ol

509 wanfusiuazuinsuinnssululyduinnssulnefinsuengimunanslunsusematuneidey
Unyiuinnssulvne woungainiey bebl

a ar v v a a | <
L%‘EJ'U UanNIENITe MINUIEUSIUNS ig’JE‘IWﬂ-’\] A WUIEIIUDU

daidang Mevendndnsuarusnsuinnssuiinsuatgfmundnslunisuss matunaden

L T = a o 2/
Ufy‘UUQﬁﬂiiﬁJ1VlEJ DUNHATINIUU lodbl 91UIU o WU

<

AuiAugSTUURTIATuRAeTUN b Ausleu beds UBUMNBNTENTIINEIAANT
wazmalulad Uagiudsudunssnsanmsanudine nenrans Fdouasuianssy aumsenedue
USudsansensas mue nsn @UUN o) WA bevl) Tnsdninsuimuninermansuasvalulad

Wi (@) Wunilsasaeuguandivemansusinarudnisuinnssuiivetungifou

w o W

Ugyudanssulve wazlidrdniuuszunadundivassasusavesdnsusivazusnsuinngsy
AiunsnsIRdeuAuaNTRLGY Tuvisiavhuasysemadayduianssulne Yagtuilndniusiuay
Uinsudanssunusenadulgduinnssuineg 91U ece HaU (AILARBUNNTIAL bEde -

AN lodolo) 1Y

dinsudszina veudinedondndusiuazuinisuinnssuludaduinnssulnefiasy
o1giwundvslunsussnmatunadeudyiuianssulng Tuldsungainiey beole sonanUnd
uianssulvg dmou @ wae vl IHTnedud i o funen beve Wuduly swasiden
Usangeudsiidangae

JuSsunnielusansuuasteufuRdely

YAWENIAIUTUDND

M pas

WiewATl o a@wan)

fguensdtinauyssinu

NBANATTINUUTEAN o
3. o blbbE exxo UAY o blbbE boewm
3815 o bloda ccon



a W« a o o ° & = o ar a a
MedenAniusiuazuinmuianssuiinsuangimunanslunisuszmatunsdeudyduianssulne Weungalnieu 2562

gy | i | : Uszn/518ns Fomamad | wiawiiu | snansawia | V3t Fuvszma | Funueeny
Frunsunng - - - ' ' =
0 . S : .
1 03010010 [gunnlawuniiu lolasnaslsd (Fexofenadine  |Huwa (FENAFEX) USEm Leafiea Wwirea 910n 30/11/2559 | 30/11/2562
Hydrochloride)
- . j 1) wiiadin ve 60 fiaAndh (100 i) B o | ndes a000| | 30112850 | 30112562
- 2) wiiain wna 180 fiadndh (100 din) - * ndes 950,00 30/11/2559 | 30/11/2562
| 2 | 03010012 gnﬂuuama%isﬁ (Finasteride) ~|Firide Tablet i ' 2 ah%@{ﬁ%ea i | 301172550 | 301172562
1) viadie vuin 1 SeAnde G0 i) - | ndes © §95.50 - 30/11/2559 | 30/11/2562
- |2 wiiadin v 5 Tadniyu (30 Win) - | ndes 909.50 30/11/2550 | 30/11/2562
=g 030}(_)913_' graawnuny Twunaiden (Losartan potaésium) ApusuUM (Loranta Tablet) e k : Jusom avvhdinginea d1in 3071172559 | 30/11/2562
1) wiiauia ﬁjmé SC_) -ﬁaﬁn.%‘n (3.0"0-“@_“ - - nam 1,17?.00_ ' 30/11/2559 ' 30_/1_1_/_2562
2) wiiauiln vuna 100 Hadnsy (300 win) - 1 ndes 1,926.00 30/11/2550 | 30/11/2562
YiusinIInIsunng
4 03020008 swum‘%'mﬂa'd'aﬂmﬁnuaﬂﬂnzmun‘s:g}nﬁwﬁ'ﬂ PTS Pedicular Screw Fixation — Rod System | lnasuu|uSen Wiea wiinea 9 30/11/2559 | 30/11/2562

Page 1




03020008  szuuAIssiiadanindiauazlansaunszgnaumas
e 5171 (374 vat)
#19U Part Name Part Name (mMw1lve) A sigvuae RUBNY
@ugandw) | x
Fu/andiu)

1 | Spinal Screw Titanium ju M.9 Size 4.0 X 25 mm. | lanzmunszgnduvdsiu M9 vun 4.0 X 25 aduns Ju 6,600.00
2 | Spinal Screw Titanium ju M9 Size 4.0 X 30 mm. | lavzmunsegandundaiu M9 vun 4.0 X 30 fadiuns Bu 6,600.00
3 | Spinal Screw Titanium U M9 Size 4.0 X35 mm. | lavgmunseandundsiu M9 vum 4.0 X 35 dadiuns 3u 6,600.00
4 | Spinal Screw Titanium ju M9 Size 4.5 X 25 mm. | lavemmunsegndunasiu M9 wum 4.5 X 25 flafiuns du 6,600.00
5 | Spinal Screw Titanium Ju M9 Size 4.5 X 30 mm. | lavsmwnszgndumndsiu M9 wun 4.5 X 30 Siafiuns B 6,600.00
6 | Spinal Screw Titanium u M9 Size 4.5 X35 mm. | lavzmunseandundsiu M9 wunm 4.5 X 35 fiaduns fu 6,600.00
7 | Spinal Screw Titanium ju M9 Size 4.5 X 40 mm. | lanzmunsegndundssu M9 um 4.5 X 40 fiadiuns B 6,600.00
8 | Spinal Screw Titanium §u M9 Size 5.5 X35 mm. | lavzmunseandundaju M9 w1 5.5 X 35 fladins u 6,600.00
9 | Spinal Screw Titanium §u M9 Size 5.5 X 40.mm. | langaunssandumdeu M.9. vuna 5.5 X 40 fiaduns u 6,600.00
10 | Spinal Screw Titanium §u M.9 Size 5.5 X 45 mm. | langmunssgnduwdaju M9 9um 5.5 X 45 adlums Bu 6,600.00
11 | Spinal Screw Titanium Ju M.9 Size 5.5 X 50 mm. | Tangmansegndundagu M9 wua 5.5 X 50 fiadiwns By 6,600.00
12 | Spinal Screw Titanium U M.9 Size 5.5 X 55 mm. | lavsmwnssgndundigu M9 wum 5.5 X 55 ladiums Ty 6,600.00
13 | Spinal Screw Titanium U M.9 Size 6.5 X 35 mm. | Tanzaunsegnduvdsiu M9 wum 6.5 X 35 fiaduns Bu 6,600.00
14 | Spinal Screw Titanium Ju M.9 Size 6.5 X 40 mm. | langanunsegndundsiu M9 vum 6.5 X 40 faduns Bu 6,600.00
15 | Spinal Screw Titanium ju M.9 Size 6.5 X 45 mm. | langaunszgndundasu M9 wum 6.5 X 45 aduns Bu 6,600.00
16 | Spinal Screw Titanium §u M.9 Size 6.5 X 50 mm. | langmunssQnduviasju M9 aum 6.5 X 50 Jaduns By 6,600.00
17 | Spinal Screw Titanium Ju M9 Size 6.5 X 55 mm. | langaunssgndunasiu M9 wun 6.5 X 55 liadluns By 6,600.00
18 | Spinal Screw Titanium ju M.9 Size 7.0 X 35 mm. | lavzmunssandundaju M9 wun 7.0 X 35 fiafiuns By 6,600.00
19 | Spinal Screw Titanium Ju M.9 Size 7.0 X 40 mm. | Tavigmunssandundagu M9 aunn 7.0 X 40 fiadiuns Bu 6,600.00
20 | Spinal Screw Titanium §u M.9 Size 7.0 X 45 mm. | lavemunszandundigu M9 aum 7.0 X 45 fiadiuns Bu 6,600.00

Page 2




03020008  szuulAIBsTiaYaentdauacTavzaunszgnFuNEs
_ 5101 (594 vat)
a1diu Part Name Part Name (awlne) ;“""’”3 fianuay NUBIA
(Bura/ian) (u/gn/idu)
21 | Spinal Screw Titanium U M.9 Size 7.0 X 50 mm. | lavsmunszgnduvdiiu M9 wum 7.0 X 50 Hadiuns u 6,600.00
22 | Spinal Screw Titanium Ju M.9 Size 7.5 X 35 mm. | langmmnsegndumnagu M9 wun 7.5 X 35 faduns Bu 6,600.00
23 | Spinal Screw Titanium U M.9 Size 7.5 X 40 mm. | lanzmunsegndundsiu M9 vum 7.5 X 40 fladlums 3u 6,600.00
24 | Spinal Screw Titanium ju M.9 Size 7.5 X 45 mm. | lanzaunsegndundagu M9 vuna 7.5 X 45 fiaduns u 6,600.00
25 | Spinal Screw Titanium §u M.9 Size 75X 50 mm. [ langanunsegndundaju M9 wu1m 7.5 X 50 fiadiuns u 6,600.00
26 | Spinal Screw Titanium u M.9 Size 8.0 X 40 mm. | langmunssgndundsiu M9 vu1n 8.0 X 40 Nadiuns iy 6,600.00
27 | Spinal Screw Titanium §u M.9 Size 8.0 X 45 mm. | lavemunssandumdeju M9 1 8.0 X 45 fiadums 3 6,600.00
28 | Spinal Screw Titanium §u M.9 Size 8.0 X 50 mm. | lanzaunsegndumdisu M9 aum 8.0 X 50 fiadiuns u 6,600.00
29 | Spinal Screw Titanium §u M.9 Pitch 2.5 Taneaunsygnauvdeu M.9 find 2.5 vun 5.5 X 35 Taduns B 6,600.00
Size 5.5 X 35 mm.
30 | Spinal Screw Titanium U M.9 Pitch 2.5 Tavigmunseandundsgu M9 find 2.5 9umn 5.5 X 40 Tafiuins B 6,600.00
Size 5.5 X 40 mm.
31 | Spinal Screw Titanium §u M.9 Pitch 2.5 Taveaunsegndundaiu M9 wnd 2.5 aun 5.5 X 45 aduns Ju 6,600.00
Size 5.5 X 45 mm.
32 | Spinal Screw Titanium U M.9 Pitch 2.5 lavizamunsegndundau M9 Aind 2.5 3umn 6.5 X 35 fadums Bu 6,600.00
Size 6.5 X 35 mm.
33 | Spinal Screw Titanium 3u M.9 Pitch 2.5 Taveaunsegndumndagu M9 Aind 2.5 vun 6.5 X 40 ladums u 6,600.00
Size 6.5 X 40 mm.,
34 | Spinal Screw Titanium Ju M.9 Pitch 2.5 Taneanunseanduvidasu M9 find 2.5 aua 6.5 X 45 adlins 3u 6,600.00

Size 6.5 X 45 mm.

Page 3




03020008  szuuATRsilatIkdinuazlavzanszgnFuUNSS
I 31A1 (374 vat)
el Part Name Part Name (n1wlne) S o) Aavue TUNE]
(Fu/ga/ i) y )
) (5u/1;a/|,au)

35 | Spinal Screw Titanium §u M.9 Pitch 2.5 Taveaunseanduviaiu M.9 Aind 2.5 1um 6.5 X 50 dadiuns By 6,600.00
Size 6.5 X 50 mm.

36 | Spinal Screw Titanium Ju M.9 Pitch 2.5 Tavgmunsygndundeiu M9 Wivd 2.5 1m 6.5 X 55 Tafiuins Bu 6,600.00
Size 6.5 X 55 mm.

37 | Spinal Screw Titanium §u M.9 Pitch 2.5 Taviemunszgndumndagu M9 find 2.5 aunm 7.5 X 40 fadams Bu 6,600.00
Size 7.5 X 40 mm.

38 | Spinal Screw Titanium gu M.9 Pitch 2.5 Tangmunsygndumdsiu M9 ind 2.5 wnm 7.5 X 45 Tadns 3u 6,600.00
Size 7.5 X 45 mm.

39 | Spinal Screw Titanium $u M.9 Pitch 2.5 Tavgmunsegndundaiu M.9 #ind 2.5 vum 7.5 X 50 fladiuins Bu 6,600.00
Size 7.5 X 50 mm.

40 | Spinal Screw Titanium Ju M.9 Pitch 2.5 Tavgaunsegndundeiu M9 wnd 2.5 wum 9.0 X 40 Hadiuins Bu 6,600.00
Size 9.0 X 40 mm.

41 | Spinal Screw Titanium Ju M.9 Pitch 2.5 Tavgmunsgandumdssu M9 fivd 2.5 wum 9.0 X 45 adiums 3u 6,600.00
Size 9.0 X 45 mm.

42 | Spinal Screw Titanium Ju M.9 Pitch 2.5 Tavizmunsegndunaaiu M.9 Aind 2.5 um 9.0 X 50 fiaduns By 6,600.00
Size 9.0 X 50 mm.

43 | Spinal Screw Titanium Reduction Ju M.9 TovzaunszanduvdBandu fu M9 wue 4.0 X 25 adums 3u 6,600.00
Size 4.0 X 25 mm.

44 | Spinal Screw Titanium Reduction Ju M.9 TavzenunsegndumdBindu u M9 wwn 4.0 X 30 fadums Bu 6,600.00
Size 4.0 X 30 mm.

45 | Spinal Screw Titanium Reduction §u M.9 TavzaunseanduvdSandu fu M9 vwia 4.0 X 35 fadums Bu 6,600.00

Size 4.0 X 35 mm.

Page 4




03020008  szuulATesiletaesindauatianzanunszndunas
_ 3187 (374 vat)
ddu Part Name Part Name (n1wlve) ST davioy U
@Awaandu) | » )
: (@u/ga/di)

46 | Spinal Screw Titanium Reduction Ju M.9 Iawzmunszgnﬁwa"ﬁﬁn%u JUM9 A 4.5 X 25 aduns fu 6,600.00
Size 4.5 X 25 mm,

47 | Spinal Screw Titanium Reduction §u M.9 TaveaunseandundSandu fu M9 e 4.5 X 30 fiadams 3u 6,600.00
Size 4.5 X 30 mm.

48 | Spinal Screw Titanium Reduction u M.9 TavzaunssgndumdSandu Ju M9 vutn 4.5 X 35 fiadiams Fu 6,600.00
Size 4.5 X 35 mm.

49 | Spinal Screw Titanium Reduction 1 M.9 Tavsmunszanduva@andu fu M9 wutm 45 X 40 faduns B 6,600.00
Size 4.5 X 40 mm.

50 | Spinal Screw Titanium Reduction §u M.9 TavemunsyandundBandu 3u M9 vuim 55 X 35 Tadains fu 6,600.00
Size 5.5 X 35 mm. ’

51 | Spinal Screw Titanium Reduction Ju M.9 TamsaunsegndundEandu fu M9 wua 5.5 X 40 fadwms T 6,600.00
Size 5.5 X 40 mm.

52 | Spinal Screw Titanium Reduction §u M.9 Iawzmunssqné’wé’ﬁﬁ'n-ﬁ"u JUM9 um 5.5 X 45 fiafams Fu 6,600.00
Size 5.5 X 45 mm.

53 | Spinal Screw Titanium Reduction Ju M.9 TanzmunszandumdSdndu u M9 wum 55 X 50 fadmns %u 6,600.00
Size 5.5 X 50 mm. ‘

54 | Spinal Screw Titanium Reduction Ju M.9 Tavzaunszgnduvdidndu u M9 vwa 55 X 55 ladwns Bu 6,600.00
Size 5.5 X 55 mm.

55 | Spinal Screw Titanium Reduction Ju M.9 Tavzaunszgndundsidndu ju M9 vun 60 X 35 Haduins 3u 6,600.00
Size 6.0 X 35 mm.

56 | Spinal Screw Titanium Reduction §u M.9 TavzmunszgnduvdBandu su M9 wwn 6.0 X 40 Nadiums Fu 6,600.00

Size 6.0 X 40 mm.

Page 5




03020008  szuuRTesiietazrdauaTavzanansEgNAUNSs
I 5171 (573 vat)
a1y Part Name Part Name (mwlve) 1o siaviae RUUA
(Ruagane) | » Y
(Bu/ya/18u)
57 | Spinal Screw Titanium Reduction §u M.9 Tavzmunszgnduvddndu fu M9 wum 6.0 X 45 Tadums Bu 6,600.00
Size 6.0 X 45 mm.
58 | Spinal Screw Titanium Reduction Ju M.9 TavemunsegnduvdEdndu u M9 wum 6.0 X 50 fiadiums B 6,600.00
Size 6.0 X 50 mm.
59 | Spinal Screw Titanium Reduction Ju M.9 TanzaunszgndumdBandi ju M9 vun 6.5 X 35 faduims B 6,600.00
Size 6.5 X 35 mm.
60 | Spinal Screw Titanium Reduction Ju M.9 TevgmunszgndundBandu fu M9 wum 6.5 X 40 fiaduims B 6,600.00
Size 6.5 X 40 mm.
61 | Spinal Screw Titanium Reduction Ju M.9 TovgaunsegnduvdBandu gu M9 wum 6.5 X 45 fiadums u 6,600.00
Size 6.5 X 45 mm. ‘
62 | Spinal Screw Titanium Reduction Ju M.9 Taveaunszgndundandu fu M9 vwa 65 X 50 fiadums u 6,600.00
Size 6.5 X 50 mm.
63 | Spinal Screw Titanium Reduction ju M.9 TavzaunsegndumdSdndu fu M9 wun 6.5 X 55 fiadams By 6,600.00
Size 6.5 X 55 mm.
64 | Spinal Screw Titanium Reduction u M.9 TavzmunsegndumdBEandu 3u M9 vuna 7.0 X 40 fadwms Bu 6,600.00
Size 7.0 X 40 mm.
65 | Spinal Screw Titanium Reduction Ju M.9 Tangamunseanduvdddndu fu M9 wum 7.0 X 45 faduns 3u 6,600.00
Size 7.0 X 45 mm.
66 | Spinal Screw Titanium Reduction Ju M.9 TavzmunseandundEandu u M9 vunn 7.0 X 50 Hadums Bu 6,600.00
Size 7.0 X 50 mm.
67 | Spinal Screw Titanium Reduction u M.9 TavsmunseandundBandu 3u M9 vuin 7.5 X 35 fadwns Bu 6,600.00

Size 7.5 X 35 mm.

Page 6




03020008 szuulATasTiataLrdnuazlansANUNIEgNAUNAS
I 7141 (374 vat)
a1fiu Part Name Part Name (nw1ive) ;u’wue siaviiae U]
(waa/ia) (Bu/ga/du)
68 | Spinal Screw Titanium Reduction Ju M.9 TavsaunsygnduvdBdndu Ju M9 vuin 7.5 X 40 fiadiwms 3u 6,600.00
Size 7.5 X 40 mm.
69 | Spinal Screw Titanium Reduction 3u M.9 TavzaunsegnduvdSdndu Ju M9 wuw 7.5 X 45 fiadums Ju 6,600.00
Size 7.5 X 45 mm.
70 | Spinal Screw Titanium Reduction §u M.9 Tavzunsegndundddndu ju M9 una 7.5 X 50 faduims u 6,600.00
Size 7.5 X 50 mm.
71 | Spinal Screw Titanium Semi Open Ju M.9 Tangmmnsepndundaeiilomiu 3u M9 v 6.5 X 40 u 6,600.00
Size 6.5 X 40 mm. Taduns
72 | Spinal Screw Titanium Semi Open Ju M.9 lavegaunszgndundaeiilomu Ju M9 wum 6.5 X 45 u 6,600.00
Size 6.5 X 45 mm. dadluns
73 | Spinal Screw Titanium Semi Open 3u M.9 Tavsmunseanduvdaeiilomiu u M9 wun 6.5 X 50 u 6,600.00
Size 6.5 X 50 mm. fadwns
74 | Spinal Screw Titanium Semi Open Ju M.9 Tavgaunszgndundaeilomu fu M9 wun 7.0 X 40 3u 6,600.00
Size 7.0 X 40 mm. adums
75 | Spinal Screw Titanium Semi Open §u M.9 lansansegndundaeilowu 5u M9 vuna 7.0 X 45 u 6,600.00
Size 7.0 X 45 mm. fiaduuns
76 | Spinal Screw Titanium Semi Open gu M.9 Tavgmunszgnduvdaeiilomu u M9 wun 7.0 X 50 fu 6,600.00
Size 7.0 X 50 mm. fiafluns
77 | Spinal Screw Titanium Semi Open §u M.9 Taveaunszgndundaeiilowu Ju M9 vum 7.5 X 40 B 6,600.00
Size 7.5 X 40 mm. Nadns
78 | Spinal Screw Titanium Semi Open gu M.9 lavzmmnsegnduvdaeiilomiu Ju M9 9uIn 7.5 X 45 Bu 6,600.00

Size 7.5 X 45 mm.

fadiunsg

Page 7




o o . [ IS o
szuumsaww‘wmmLLazIavismmnsané'waa

03020008
. e 51A1 (524 vat)
Cal) Part Name Part Name (nmwlve) P sV T UL
@ugandy) | & " '
' (Bu/ga/idu)
79 | Spinal Screw Titanium Semi Open §u M.9 Tavsaunssgndundaedlowiu u M9 vum 7.5 X 50 T 6,600.00
Size 7.5 X 50 mm. fiafuwms
80 | Spinal Screw Titanium Hua Det §u M.9 Tavzmunszandundaindin Ju M9 wutm 4.0 X 30 Haduns Bu 6,600.00
Size 4.0 X 30 mm.
81 | Spinal Screw Titanium Hua Det §u M.9 Taveaunsegnduvdaiaudia fu M9 aunm 4.5 X 25 fiaduns Fu 6,600.00
Size 4.5 X 25 mm.
82 | Spinal Screw Titanium Hua Det §u M.9 Taveaunszgnduvdaingn Ju M9 e 4.5 X 30 Jafiuns fu 6,600.00
Size 4.5 X 30 mm.
83 | Spinal Screw Titanium Hua Det Ju M.9 Taveanunsegnduvdafaia u M9 wum 4.5 X 35 fladuns B 6,600.00
Size 4.5 X 35 mm.
84 | Spinal Screw Titanium Hua Det Ju M.9 Tavzmunseandundaiadin u M9 um 4.5 X 40 Tadums fu 6,600.00
Size 4.5 X 40 mm.
85 | Spinal Screw Titanium Hua Det Ju M.9 Tavzamunszgnduvdaiadia fu M9 2un 5.5 X 35 diadiums Tu 6,600.00
Size 5.5 X 35 mm.
86 | Spinal Screw Titanium Hua Det Ju M.9 Tavemunsegndumdainda 3u M9 vt 5.5 X 40 adwns 3u 6,600.00
Size 5.5 X 40 mm.
87 | Spinal Screw Titanium Hua Det Ju M.9 Tavizmunszandundainda u M9 aun 5.5 X 45 fiafums 3u 6,600.00
Size 5.5 X 45 mm.
88 | Spinal Screw Titanium Hua Det §u M.9 Tavsaunsegndumdaiaiia Ju M9 9w 6.5 X 35 laduwns Bu 6,600.00
Size 6.5 X 35 mm.
89 | Spinal Screw Titanium Hua Det Ju M.9 Taveaunsegnduvdaiadia 3u M9 2um 6.5 X 40 Hiaduns Bu 6,600.00

Size 6.5 X 40 mm.

Page 8




03020008  szuuiAIBsTiodaLrdauazTanzAUNIEYNFUNAY
" w 7171 (394 vat)
a1 Part Name Part Name (n1w1lve) ~”"’”“"‘,’ vl RUBINY
Buwyaneiv) | »
(Ru/ga/uéiu)
90 | Spinal Screw Titanium Hua Det ju M.9 Tamemunsegnduvdniadin U M9 9 6.5 X 45 fiadiums By 6,600.00
Size 6.5 X 45 mm.
91 | Spinal Screw Titanium Hua Det Ju M.9 Tangaunsegndumdafaiia Ju M9 9um 6.5 X 50 faduns Bu 6,600.00
Size 6.5 X 50 mm.
92 | Spinal Screw Titanium Hua Det Ju M.9 Tavsaunsygndundaiadia fu M9 A 7.5 X 40 findluns Bu 6,600.00
Size 7.5 X 40 mm.
93 | Spinal Screw Titanium Hua Det Ju M.9 Taveaunsegnduvdniadia u M9 aunm 7.5 X 45 Sadums B 6,600.00
Size 7.5 X 45 mm.
94 | Spinal Screw Titanium Hua Det §u M.9 Taveaunszgnauvdaiadia Ju M9 autm 7.5 X 50 Tafiums B 6,600.00
Size 7.5 X 50 mm.
95 | Locking Nut Titanium ju M.9 Tavzawnsegnduvdauuuien fu M9 B 4,200.00
96 | Locking Nut Titanium Hua Det §u M.9 Tavizmunszgnduvdsuuudeniain fu M.9 B 4,200.00
97 | Rod Titanium §u M.9 Size 5.0 X 45 mm. witlaveamnsegndundd fu M9 vuwm 5.0 X 45 faduns W 650.00
98 | Rod Titanium §u M.9 Size 5.0 X 50 mm. widlavizamnseandunds Ju M.9 uin 5.0 X 50 ladwns W 650.00
99 | Rod Titanium §u M.9 Size 5.0 X 60 mm. wislangamnseandunas Ju M.9 2wt 5.0 X 60 ladwuns W 650.00
100 | Rod Titanium §u M.9 Size 5.0 X 70 mm. witlaneaunszgndunds Ju M.9 9uim 5.0 X 70 iafuns Wiy 970.00
101 | Rod Titanium §u M.9 Size 5.0 X 80 mm. witlaveaunsegndumnds fu M.9 aum 5.0 X 80 ladwums W 970.00
102 | Rod Titanium §u M.9 Size 5.0 X 90 mm. wislaveaunsegndumds Ju M.9 vum 5.0 X 90 fadiums W 970.00
103 | Rod Titanium §uM.9 Size 5.0 X 100 mm. witlaveamnsegndumnds fu M.9 9w 5.0 X 100 Tadiuns W 1,290.00
104 | Rod Titanium §u M.9 Size 5.0 X 110 mm. wislaveaunszgndunds §u M.9 vum 5.0 X 110 fadiuns W 1,290.00
105 | Rod Titanium §u M.9 Size 5.0 X 120 mm. wislanzaunsegndunds Ju M.9 9un 5.0 X 120 faduns Wu 1,290.00

Page 9




03020008  szuuiRTeslladautndnuarlavzanunsgniunds

—_ 5171 (37 vat)

d1du Part Name Part Name (mw1lng) Y daviiag VUG
@w/gondu) | s y
(Fu/ya/1eiu)

106 | Rod Titanium ju M.9 Size 5.0 X 130 mm. witlavgamunszgnduvda fu M.9 vum 5.0 X 130 Tadlums W 1,610.00
107 | Rod Titanium g1 M.9 Size 5.0 X 140 mm. witlaneaunseandunds ju M.9 2w 5.0 X 140 fadwns Hu 1,610.00
108 | Rod Titanium Ju M.9 Size 5.0 X 150 mm. witlavgamnszgndunda fu M.9 vum 5.0 X 150 Jadluns Wiy 1,610.00
109 | Rod Titanium 3u M.9 Size 5.0 X 160 mm. wislanzaunszgnduval u M.9 3um 5.0 X 160 ladiwuns W 1,930.00
110 | Rod Titanium §u M.9 Size 5.0 X 170 mm. wislangaunseandunda Ju M.9 aun 5.0 X 170 fadwns W 1,930.00
111 | Rod Titanium §u M.9 Size 5.0 X 180 mm. wislanegaunseandumds §u M.9 unn 5.0 X 180 fiadiuns W 1,930.00
112 | Rod Titanium Ju M.9 Size 5.0 X 190 mm. wislanzaunsegnduvds Ju M.9 1ua 5.0 X 190 fiadiuns W 2,250.00
113 | Rod Titanium §u M.9 Size 5.0 X 200 mm. wrislavgamunszgndumad fu M.9 9ua 5.0 X 200 Tadlums W 2,250.00
114 | Rod Titanium §uU M.9 Size 5.0 X 300 mm. witlangamunsegndunds fu M.9 wua 5.0 X 300 Tadlums W 8,000.00
115 | Rod Titanium U M.9 Size 5.0 X 400 mm. wislangaunsegnduval Ju M9 1ua 5.0 X 400 fadiwns Wy 8,000.00
116 | Rod Titanium U M.9 Size 5.5 X 45 mm. wislaneaunsegndunds Ju M9 vuna 5.5 X 45 ladwns Wy 650.00
117 | Rod Titanium Ju M.9 Size 5.5 X 50 mm. witlavgamnsegndumas gu M.9 3u1m 5.5 X 50 aduns W 650.00
118 | Rod Titanium ju M.9 Size 5.5 X 60 mm. widlavgaunssgnduvas Ju M9 Yum 5.5 X 60 fiaduns W 650.00
119 | Rod Titanium U M.9 Size 5.5 X 70 mm. wislanzamnszgndunds Ju M.9 vum 5.5 X 70 iaduns W 970.00
120 | Rod Titanium §u M.9 Size 5.5 X 80 mm. wrislangaunszgndunds §u M9 9um 5.5 X 80 fiadluns Wi 970.00
121 | Rod Titanium Ju M.9 Size 5.5 X 90 mm. wislangamnsegndunds Ju M9 ¥um 5.5 X 90 ladiuns Wi 970.00
122 | Rod Titanium §u M.9 Size 5.5 X 100 mm. witlavgmunszgndunda §u M9 Yun 5.5 X 100 dadiuns W 1,290.00
123 | Rod Titanium §u M.9 Size 5.5 X 110 mm. witlavgamunszgndunds Ju M.9 9uia 5.5 X 110 faduns Wi 1,290.00
124 | Rod Titanium ju M.9 Size 5.5 X 120 mm. wislangaunszgndundd Ju M9 9um 5.5 X 120 dadiuns W 1,290.00
125 | Rod Titanium g1 M.9 Size 5.5 X 130 mm. wislangaunsegndundd Ju M9 vum 5.5 X 130 dadiuns L% 1,610.00

Page 10




03020008  szuuAIBsTiadILRaalavzAUNTEgNEUNSS

e 51A1 (574 vat)

36U Part Name Part Name (nwnive) qu? fiaviia BN
(éu/«qm/mu) v )
(Fu/yadu)

126 | Rod Titanium §u M.9 Size 5.5 X 140 mm. wislaveamunsegnduvids 3u M9 wun 5.5 X 140 fiaduns wfu 1,610.00
127 | Rod Titanium §u M.9 Size 5.5 X 150 mm. witlanganunseandunda Ju M9 9um 5.5 X 150 fiatuns W 1,610.00
128 | Rod Titanium §u M.9 Size 5.5 X 160 mm. wislangamnsegnduvds u M9 wua 5.5 X 160 fiadiuns W 1,930.00
129 | Rod Titanium ju M.9 Size 5.5 X 170 mm. wislaveamnszgndumds u M9 vua 5.5 X 170 fiadiwns Wi 1,930.00
130 | Rod Titanium §u M.9 Size 5.5 X 180 mm. wislansaunsegndumad Ju M9 um 5.5 X 180 fladuns W 1,930.00
131 | Rod Titanium U M.9 Size 5.5 X 190 mm. wislangaunszgndunds Ju M.9 vu1m 5.5 X 190 Jadlums W 2,250.00
132 | Rod Titanium U M.9 Size 5.5 X 200 mm. wrislangaunsegndunds §u M.9 vum 5.5 X 200 Jadiuns W 2,250.00
133 | Rod Titanium §u M.9 Size 5.5 X 210 mm. wislanzaunszgndunda Ju M.9 wu1m 5.5 X 210 Tadiuns W 2,250.00
134 | Rod Titanium §u M.9 Size 5.5 X 220 mm. wistanzaunszgndunda Ju M9 aum 5.5 X 220 laduns Wiy 2,570.00
135 | Rod Titanium U M.9 Size 5.5 X 230 mm. wislavgaunsegnduvas Ju M.9 wua 5.5 X 230 fiabluns Wy 2,570.00
136 | Rod Titanium §u M.9 Size 5.5 X 240 mm. wislangaunseandunas Su M.9 wuna 5.5 X 240 fiadwns Wiy 2,570.00
137 | Rod Titanium ju M.9 Size 5.5 X 250 mm. wislaveamnszgndumas Ju M9 Yum 5.5 X 250 fiafuns Wiy 2,890.00
138 | Rod Titanium Ju M.9 Size 5.5 X 260 mm. widlangmmunseandunad Ju M.9 Yun 5.5 X 260 fadwns \fu 2,890.00
139 | Rod Titanium Ju M.9 Size 5.5 X 270 mm. witlangaunseandumnds Ju M.9 wum 5.5 X 270 ladwns wu 2,890.00
140 | Rod Titanium §u M.9 Size 5.5 X 280 mm. widlavgaunseandumndd U M.9 39U 5.5 X 280 ladluns wiu 3,210.00
141 | Rod Titanium ju M.9 Size 5.5 X 290 mm. wrislauzaunsvanduvias Ju M.9 autm 5.5 X 290 fafiwns wdu 3,210.00
142 | Rod Titanium 4 M.9 Size 5.5 X 300 mm. wislavzamnsgndunda Ju M.9 awin 5.5 X 300 Taduins \efu 8,000.00
143 | Rod Titanium ju M.9 Size 5.5 X 400 mm. widlaveaunszandunad U M.9 9un 5.5 X 400 laduins u 8,000.00
144 | Rod Titanium Ju M.9 Size 5 - 3 X 200 mm. wislaveaunsegnduvas u M9 9um 5 - 3 X 200 W 3,700.00

fadlung

Page 11




03020008  szuuwAIBsTiatIendnuazlavzaunsEgndund
e 31A1 (574 vat)
a1 Part Name Part Name (mwlve) 3"“""“"3 fiaviae NN
@wayansiv) | .
(Bu/yn/idu)
145 | Spinal Screw Titanium Ju M.10 Size 4.5 X 25 mm. | langmunszandumaagu M.10 v 4.5 X 25 fiaduns u 6,600.00
146 | Spinal Screw Titanium 3u M.10 Size 4.5 X 30 mm. | Tavzmunszgndumdsiu M.10 vum 4.5 X 30 fiadins Bu 6,600.00
147 | Spinal Screw Titanium §u M.10 Size 4.5 X 35 mm. | Tavzaunsegndunasiu M.10 9un 4.5 X 35 fiadluns Tu 6,600.00
148 | Spinal Screw Titanium U M.10 Size 4.5 X 40 mm. | Tausmunsegndunaigu M.10 9u 4.5 X 40 dadwas u 6,600.00
149 | Spinal Screw Titanium §u M.10 Size 5.5 X 35 mm. | lavgmunsegndumdsiu M.10 9 5.5 X 35 fiadiuns 3y 6,600.00
150 | Spinal Screw Titanium 3u M.10 Size 5.5 X 40 mm. | langmunsegndundsiu M.10 9 5.5 X 40 liaduns By 6,600.00
151 | Spinal Screw Titanium U M.10 Size 55 X 45 mm. | lanzamunssgndumdazu M.10 9u1m 5.5 X 45 laduns u 6,600.00
152 | Spinal Screw Titanium U M.10 Size 6.5 X 35 mm. | lanzmunssgndumdazu M.10 9um 6.5 X 35 fladuns u 6,600.00
153 | Spinal Screw Titanium U M.10 Size 6.5 X 40 mm. | lavemunssgndundssu M.10 9um 6.5 X 40 fiaduns 3u 6,600.00
154 | Spinal Screw Titanium 3u M.10 Size 6.5 X 45 mm. | lavgmunsegndumdagu M.10 2um 6.5 X 45 fiaduns 3 6,600.00
155 | Spinal Screw Titanium §u M.10 Size 6.5 X 50 mm. | laveaunsegndundagu M.10 2u1m 6.5 X 50 adluns Ay 6,600.00
156 | Spinal Screw Titanium §u M.10 Size 7.5 X 35 mm. | Tangmunsegndundaju M.10 9ua 7.5 X 35 Taduns u 6,600.00
157 | Spinal Screw Titanium §u M.10 Size 7.5 X 40 mm. | Tansmunsegnduvdsgu M.10 wuina 7.5 X 40 dadwns Bu 6,600.00
158 | Spinal Screw Titanium §u M.10 Size 7.5 X 45 mm. | lavgaunszgndundegu M.10 wuin 7.5 X 45 fiadiuns u 6,600.00
159 | Spinal Screw Titanium $u M.10 Size 7.5 X 50 mm. | lavgmunszgnduvaagu M.10 vua 7.5 X 50 fladwuns u 6,600.00
160 | Spinal Screw Titanium §u M.10 Size 8.0 X 40 mm. | Tavgmunszandumdagu M.10 wun 8.0 X 40 fiadiwns fu 6,600.00
161 | Spinal Screw Titanium U M.10 Size 8.0 X 45 mm. | langmunsegndumasiu M.10 2u1n 8.0 X 45 Tadluns Bu 6,600.00
162 | Spinal Screw Titanium U M.10 Size 8.0 X 50 mm. | lanzaunsegndumdsiu M.10 9un 8.0 X 50 fiadiuns B 6,600.00
163 | Spinal Screw Titanium §u M.10 Size 9.0 X 40 mm. | lavsmunszgndundagu M.10 9u1m 9.0 X 40 fiadiums Bu 6,600.00
164 | Spinal Screw Titanium Ju M.10 Size 9.0 X 45 mm. | Tanzmunseandumdsiu M.10 9um 9.0 X 45 ladiwas Bu 6,600.00

Page 12




03020008  szuuTeslataerdauazlanzAtunTENTUNSS
e 7181 (39U vat)
ddiu Part Name Part Name (n1w1lve) SO diavivae nABING
(Bu/ga/dy) |
) (Bu/ya/diu)
165 | Spinal Screw Titanium §u M.10 Size 9.0 X 50 mm. | lavgaunsegnduvidsiu M.10 9u1m 9.0 X 50 Nadluns fu 6,600.00
166 | Locking Nut Titanium §u M.10 Tavzaunsegniumdauuudon fu M.10 B 4,200.00
167 | Locking Nut Titanium Hua Det Ju M.10 Tanzmunszanduvdauuudoniaia u M.10 U 4,200.00
168 | Rod Titanium §u M.10 Size 5.75 X 45 mm. wislavgaunseandunie Ju M.10 YuIn 5.75 X 45 fiaduns W 3,600.00
169 | Rod Titanium §u M.10 Size 5.75 X 50 mm. wislaveaunsegndunds §u M.10 vum 5.75 X 50 adwns W 3,600.00
170 | Rod Titanium U M.10 Size 5.75 X 60 mm. wislavgamnszgndunds Ju M.10 Yun 5.75 X 60 daduns W 3,600.00
171 | Rod Titanium u M.10 Size 5.75 X 70 mm. wislaveamnsegnduvda Ju M.10 ¥uIn 5.75 X 70 Taduns W 4,200.00
172 | Rod Titanium 3u M.10 Size 5.75 X 80 mm. wislanzaunsegndunds §u M.10 2un 5.75 X 80 Hadiwns \Hu 4,200.00
173 | Rod Titanium Ju M.10 Size 5.75 X 90 mm. wislaneaunsegndunds §u M.10 2ua 5.75 X 90 fadiwns W 4,200.00
174 | Rod Titanium Ju M.10 Size 5.75 X 100 mm. widlavegaunseandunda U M.10 9u1A 5.75 X 100 Wy 4,800.00
Hafums
175 | Rod Titanium §u M.10 Size 5.75 X 110 mm. wislavizaunseandumas fu M.10 9u1m 5.75 X 110 W 4,800.00
fadwns
176 | Rod Titanium U M.10 Size 5.75 X 120 mm. wislangmunsegndunda su M.10 9uIm 5.75 X 120 W 4,800.00
Hadumg
177 | Rod Titanium §u M.10 Size 5.75 X 130 mm. wislavzaunsegndunds §u M.10 au1m 5.75 X 130 W 5,400.00
Taduns
178 | Rod Titanium Ju M.10 Size 5.75 X 140 mm. wisdlaveaunseandunds Ju M.10 9u1A 5.75 X 140 vu 5,400.00
Tadiuns
179 | Rod Titanium Ju M.10 Size 6.0 X 45 mm. widlangamnseandumas Ju M.10 9u1m 6.0 X 45 daduns W 3,600.00
180 | Rod Titanium 3u M.10 Size 6.0 X 50 mm. wislaveaunsegndumdl Ju M.10 9u1m 6.0 X 50 fiadiuns W 3,600.00

Page 13




03020008  szuuiAlBsTiataEriauazlavzaunsEgNAUNAS

Ve 511 (374 vat)

a1 Part Name Part Name (n11lne) Pl Aoy e
@wya/dy) | 2

: @w/ya/du)
181 | Rod Titanium Ju M.10 Size 6.0 X 60 mm. wislangaunsegndunds fu M.10 vun 6.0 X 60 dadiuns e 3,600.00
182 | Rod Titanium Ju M.10 Size 6.0 X 70 mm. witlavgamnszgndunds su M.10 1ura 6.0 X 70 adwuns e 4,200.00
183 | Rod Titanium 34 M.10 Size 6.0 X 80 mm. witlanzaunsegndunds fu M.10 au1a 6.0 X 80 ladluns kef 4,200.00
184 | Rod Titanium §u M.10 Size 6.0 X 90 mm. uvislangamnssgnduvas u M.10 aun 6.0 X 90 laduns \efy 4,200.00
185 | Rod Titanium §u M.10 Size 6.0 X 100 mm. wislavgamnszgndunas Ju M.10 wu1n 6.0 X 100 Hadluns tefu 4,800.00
186 | Rod Titanium gu M.10 Size 6.0 X 110 mm. witlavgamunszgndunas Ju M.10 vu1m 6.0 X 110 Tadluns e 4,800.00
187 | Rod Titanium §u M.10 Size 6.0 X 120 mm. witlavzamnsegndunds Ju M.10 vum 6.0 X 120 fadiuns e 4,800.00
188 | Rod Titanium Ju M.10 Size 6.0 X 130 mm. wislanganunsegndunds Ju M.10 vun 6.0 X 130 fiaduns i 5,400.00
189 | Rod Titanium U M.10 Size 6.0 X 140 mm. uvidlavzamnszgndunds Ju M.10 vu1n 6.0 X 140 Tadluns WAy 5,400.00
190 | Rod Titanium Ju M.10 Size 6.0 X 150 mm. writlavzaminsEgndumds Ju M.10 vun 6.0 X 150 fadiuns e 5,400.00
191 | Rod Titanium $u M.10 Size 6.0 X 160 mm. wislangamnsegndunas u M.10 9un 6.0 X 160 Hadluns \éu 6,000.00
192 | Rod Titanium U M.10 Size 6.0 X 170 mm. wislanzaminssgndunds u M.10 un 6.0 X 170 Hadluns tef 6,000.00
193 | Rod Titanium Ju M.10 Size 6.0 X 180 mm. wrislavzamunszgndumds Ju M.10 vun 6.0 X 180 fiadiuns i 6,000.00
194 | Rod Titanium §u M.10 Size 6.0 X 190 mm. wislavgaunszgndumds §u M.10 vun 6.0 X 190 fiadluns \efu 6,600.00
195 | Rod Titanium qu M.10 Size 6.0 X 200 mm. wislavzamnsegndunds fu M.10 vum 6.0 X 200 iadiuns ey 6,600.00
196 | Rod Titanium §u M.10 Size 6.0 X 300 mm. wislangaunsegndunds Ju M.10 YU 6.0 X 300 fiadiuns e 8,000.00
197 [ Rod Titanium §u M.10 Size 6.0 X 400 mm. wislangamnsegndunds Ju M.10 1um 6.0 X 400 fiadiuns 7] 8,000.00

Page 14




03020008  szuuwIesiiadaesindiauazlavzaunszgndunds
e 7141 (374 vat)
a1y Part Name Part Name (mw1lve) "vm'wm: iaviae NUTBINY
@uaandu) | »
! @u/ya/idi)

198 | Spinal Screw Titanium 3u Poly Axial Size 3.5 X 8 mm. | Tanzmunseandundwuuimuld v 3.5 X 8 fiafiuns o0 13,200.00 | 1 9@ Ussnaume
199 | Spinal Screw Titanium §u Poly Axial Size 3.5 X 10 mm. | Taveaminsegndundmuuivuld vun 3.5 X 10 Saduns g0 13,200.00 | Poly Axial Head
200 | Spinal Screw Titanium 3u Poly Axial Size 3.5 X 12 mm. | Tangmunszgndundanuuivuld vunm 3.5 X 12 fadwns 9 13,200.00 1 3u

201 | Spinal Screw Titanium §u Poly Axial Size 3.5 X 14 mm. | lavigmunsegndundawuuivsuld v 3.5 X 14 fafiuns 9 13,200.00 [ Poly Axial Pin
202 | Spinal Screw Titanium Ju Poly Axial Size 3.5 X 16 mm. | lanzaunszgndundwuuimyuld wunn 3.5 X 16 fiadns Y 13,200.00 1%y

203 | Spinal Screw Titanium 3u Poly Axial Size 3.5 X 18 mm. | Tavsaunszgnduvdauuuimula wun 3.5 X 18 fiadiins 10 13,200.00 | Poly Axial Cover
204 | Spinal Screw Titanium §u Poly Axial Size 3.5 X 20 mm. | Tangaunszgndundawuuiaula vum 3.5 X 20 fiadiuns 0 13,200.00 13y

205 | Spinal Screw Titanium 3u Poly Axial Size 3.5 X 22 mm. | Tanvanunszgndundauuimuld wum 3.5 X 22 fiafiuns Y 13,200.00 [ Poly Axial
206 | Spinal Screw Titanium §u Poly Axial Size 3.5 X 24 mm. | Tavemmnszandundawuuimula s 3.5 X 24 fiadiuns 0 13,200.00 | Locking Nut
207 | Spinal Screw Titanium 3u Poly Axial Size 3.5 X 26 mm. | Taveanunsygndundsuuuimuld vum 3.5 X 26 adluns qn 13,200.00 13y

208 | Spinal Screw Titanium 3u Poly Axial Size 3.5 X 28 mm. | Tavgaunsegndundauwuuimuld aunm 3.5 X 28 ladiuns m 13,200.00

209 | Spinal Screw Titanium u Poly Axial Size 3.5 X 30 mm. | lavemunsegndundawvuimvyuld sun 3.5 X 30 Tadwns 70 13,200.00

210 | Spinal Screw Titanium 3u Poly Axial Size 4.0 X 10 mm. | Tanzaunseandundsuuimld wuin 4.0 X 10 Tafwns 9 13,200.00

211 | Spinal Screw Titanium §u Poly Axial Size 4.0 X 12 mm. | Tanzanunszgndundauuivuld sun 4.0 X 12 aduns 0 13,200.00

212 | Spinal Screw Titanium 3u Poly Axial Size 4.0 X 14 mm. | Tansamnszgndundauuivmuls s 4.0 X 14 fafuns 90 13,200.00

213 | Spinal Screw Titanium $u Poly Axial Size 4.0 X 16 mm. | Tangawnsegnduvdauuuimyuld s 4.0 X 16 fadiuns 90 13,200.00

214 | Spinal Screw Titanium §u Poly Axial Size 4.0 X 18 mm. | Tavemunsegndunduuuimuls suim 4.0 X 18 fiaduns 1 13,200.00

215 | Spinal Screw Titanium 3 Poly Axial Size 4.0 X 20 mm. | lansmunsegndundawuuinuld sun 4.0 X 20 dadums 1 13,200.00

216 | Spinal Screw Titanium u Poly Axial Size 4.0 X 22 mm. | Tangmunsegnduvdawuuivyuld wunm 4.0 X 22 fafiums 0 13,200.00

217 | Spinal Screw Titanium 3u Poly Axial Size 4.0 X 24 mm. | Tanzaunszandundauuiviuld un 4.0 X 24 faduns 0 13,200.00

Page 15




03020008  sruuRIesiiedamsindiauazlanznunszgnunas
_ 5181 (324 vat)
a1y Part Name Part Name (nwlne) e dioviuae U
@uaandy) | x y !
(Fu/ga/isiu)

218 | Spinal Screw Titanium §u Poly Axial Size 4.5 X 30 mm. | Tavemunsegndundauuimpld auin 4.5 X 30 dadwns g 13,200.00 | 1 9n Usgnause
219 | Spinal Screw Titanium u Poly Axial Size 4.5 X 35 mm. | Taveanunszgnduvdauuuimuls vunm 4.5 X 35 Jaduns 9 13,200.00 | Poly Axial Head
220 | Spinal Screw Titanium 3u Poly Axial Size 4.5 X 40 mm. | Tavzanunsegndundauuinuls wunm 4.5 X 40 fafiuns 9 13,200.00 13u

221 | Spinal Screw Titanium §u Poly Axial Size 4.5 X 45 mm. | Tavgamnsegniuvdawuuimuld vum 4.5 X 45 fafiuns 9 13,200.00 | Poly Axial Pin
222 | Spinal Screw Titanium 3u Poly Axial Size 5.5 X 35 mm. | Tanganunszgndundauuuimyuld v 5.5 X 35 ladiuns % 13,200.00 1 3y

223 | Spinal Screw Titanium 3u Poly Axial Size 5.5 X 40 mm. | Taneaunszgndundauuuinyuld wwn 5.5 X 40 fadwns 0 13,200.00 | Poly Axial Cover
224 | Spinal Screw Titanium §u Poly Axial Size 5.5 X 45 mm. | Tavemmnszgnduvdauuuvmyuld vum 5.5 X 45 fadiuns 0 13,200.00 1 3y

225 | Spinal Screw Titanium 3u Poly Axial Size 5.5 X 50 mm. | Tauzmunsegndundauuvimuld wum 5.5 X 50 Taduns Y 13,200.00

226 | Spinal Screw Titanium 3u Poly Axial Size 5.5 X 55 mm. | Tansmunsegndundauuuviamuls wum 5.5 X 55 Tadluns L 13,200.00

227 | Spinal Screw Titanium u Poly Axial Size 6.5 X 35 mm. | Tanzaunsygndundauuuimuld wun 6.5 X 35 aduns Y 13,200.00

228 | Spinal Screw Titanium 3u Poly Axial Size 6.5 X 40 mm. | Tansaunsegndundauuuimuld st 6.5 X 40 faduns Y0 13,200.00

229 | Spinal Screw Titanium 3u Poly Axial Size 6.5 X 45 mm. | lavgaunssgnduvdauvuimyuld aua 6.5 X 45 daduns U 13,200.00

230 | Spinal Screw Titanium §u Poly Axial Size 6.5 X 50 mm. | lavizaunszandunduuivmuls wuin 6.5 X 50 Taduns i 13,200.00

231 | Spinal Screw Titanium u Poly Axial Size 6.5 X 60 mm. | lavemunszgndundwuuimuld aua 6.5 X 60 fiaduns n 13,200.00

232 | Spinal Screw Titanium §u Poly Axial Size 6.5 X 70 mm. | Tauzaunsegndundauuuinuld aum 6.5 X 70 fadiuns 0 13,200.00

233 | Spinal Screw Titanium 3u Poly Axial Size 6.5 X 80 mm. | lanzamnseandundsuuuimyuld wuwm 6.5 X 80 fiadiuns 0 13,200.00

234 | Spinal Screw Titanium 3u Poly Axial Size 6.5 X 90 mm. | lavgaunsgnduvdawuuimuld wum 6.5 X 90 Taduns 0 13,200.00

235 | Spinal Screw Titanium 3u Poly Axial Size 6.5 X 100 | lanzmunssanduvdsuuiaviuld aum 6.5 X 100 Y0 13,200.00

mm.

fadlums

Page 16




03020008  szuuilesTiadaLRIdauazlansMUNsTgNFUNAY
_ 71A1 (374 vat)
a1y Part Name Part Name (a1wlve) :wu'wuu AoVl NABNR
@waandy) | & " :
: (Bu/yn/isiv)
236 | Spinal Screw Titanium 3u Poly Axial Size 7.5 X 40 mm. | Tavgmunssgndundauuuimyuld aum 7.5 X 40 fadwns Y0 13,200.00 | 1 Yn Usenaudg
237 | Spinal Screw Titanium 3u Poly Axial Size 7.5 X 45 mm. | Tanzanunsegndumdswuuimsuld vum 7.5 X 45 Tadiuns 90 13,200.00 | Poly Axial Head
238 | Spinal Screw Titanium $u Poly Axial Size 7.5 X 50 mm. | lanzmunszandundauuuinauld wum 7.5 X 50 fadiwuns 9 13,200.00 15u
239 | Spinal Screw Titanium 3u Poly Axial Size 8.0 X 40 mm. | Tangaunszgndundasuuuinauld vutn 8.0 X 40 fiadiuns 90 13,200.00 | Poly Axial Pin
240 | Spinal Screw Titanium Ju Poly Axial Size 8.0 X 45 mm. | Taneaunsegnduvdauuiamulsl aun 8.0 X 45 fladuins 9 13,200.00 13u
241 | Spinal Screw Titanium §u Poly Axial Size 8.0 X 50 mm. | Tavsmunszgnduvdauuuimulsl vun 8.0 X 50 Sladuns 0 13,200.00 | Poly Axial Cover
242 | Spinal Screw Titanium u Poly Axial Size 9.0 X 40 mm. | Tangmunszgnduvdauuiampulel vumn 9.0 X 40 Siafiuns 9 13,200.00 13
243 | Spinal Screw Titanium §u Poly Axial Size 9.0 X 45 mm. | Tauzaunsygndundauvuiamuld aun 9.0 X 45 Jafuns Y 13,200.00 | Poly Axial Ring
244 | Spinal Screw Titanium §u Poly Axial Size 9.0 X 50 | Tangamnsegndundawuuimuld aumn 9.0 X 50 fiaduns % 13,200.00 15y
mm.
245 | Spinal Screw Titanium 3u Poly Axial Size 10.0 X 40 | Tavgmunsegndundauuuiomuld sum 10.0 X 40 Y0 13,200.00
mm. faduns
246 | Spinal Screw Titanium §u Poly Axial Size 10.0 X 45 | Tavzamnsegndundawuuivyuld wum 10.0 X 45 9 13,200.00
mm. Haduns
247 | Spinal Screw Titanium 3u Poly Axial Size 10.0 X 50 | lavzamnsegnduniawuuvmyuld wum 10.0 X 50 Y0 13,200.00
mm. Hadung
248 | gunsaiBanszgn End To End Size 13.5 X 10.5 X 20 mm. | gunsaiiensiefanszgnuuumss 1unm 13.5 X 10.5 X 20 Y 12,000.00
Naduns
249 | gunsaifiansegn End To End CTU T Size 115X 9X | gunsalifensiofianszgnuuunssnnsewinnsegnaaiiunszgn 0 12,000.00

17 mm.

152980 2UIR 11.5 X 9 X 17 Laduns

Page 17




03020008  szuuiIasiledaerdauazlanzaunszgNFUNES
- 51A1 (57W vat)
a1y Part Name Part Name (n1wlve) Pty o UGG
Awaandu) | v )
' (Bu/agn/iciv)
250 | gunsaiiansgn Side To Side Size 14 X 9.5 X 18 mm. | gunsalifeuriednnszgnuuusudisiadutne vunm 14 X 9.5 Y 12,000.00
X 18 fadwns
251 | gumsaifianszgn Side To Side Size 15.6 X 10 X 22 mm. | gunsaiideusiaBanszgnuuududrssiadudng vunm 15.6 X Y 12,000.00
10 X 22 fiaduns
252 | Lumbar Cage Titanium Size 18 X 8 mm. Faquasuanuudsesewieudensegniundsssiuie? Bu 18,000.00
U9 18 X 8 faduuns
253 | Lumbar Cage Titanium Size 18 X 10 mm. Fanuadumuudausesewiadsansegndundeseiued Bu 18,000.00
R 18 X 10 flafiuns
254 | Lumbar Cage Titanium Size 18 X 12 mm. TaquaSumuudausesewinudemnsegndundeseiuien 3u 18,000.00
' wuIn 18 X 12 fiatlums '
255 | Lumbar Cage Titanium Size 18 X 14 mm. Taquatunnuudwsesewinaudaansegndundeseiuien Bu 18,000.00
un 18 X 14 fiaduns
256 | Crevical Cage Titanium Size 10 X 10 X 5 mm. Fanaduarmudausesznindsmnsegndundssedune T 18,000.00
A 10 X 10 X 5 fiadiiums
257 | Crevical Cage Titanium Size 10 X 12 X 5 mm. TanaSurnuudausiseninudanssgndundiseiuae Bu 18,000.00
WA 10 X 12 X 5 fadiuns
258 | Crevical Cage Titanium Size 10 X 12 X 6 mm. FaqaSumuudausiszwiteudansygniundsseduae 3u 18,000.00
W 10 X 12 X 6 faduns
259 | Crevical Cage Titanium Size 10 X 12 X 7 mm. JanwSunuudausessuinudaansegndundssedune u 18,000.00
YW 10 X 12 X 7 ladiuns
260 | Crevical Cage Titanium Size 14 X 10 X 7 mm. Taquaiuaruuduseseninudonseandundsseiune I 18,000.00

UM 14 X 10 X 7 ladung

Page 18




03020008  szuuiIesadaesindinuazlanzaunszgniunds
o 71A1 (37U vat)
a1 Part Name Part Name (n1u1ive) Y fanuae NUWING
@uaandu) | »
' @w/ya/diu)
261 | Crevical Cage Titanium Size 14 X 11 X 5 mm, Tagatuanuudinseseninudesnssgnduvdsseiune 3u 18,000.00
ua 14 X 11 X 5 datuns
262 | Crevical Cage Titanium Size 14 X 11 X 6 mm. Tanuadumnuudwseserinldeansegndundeseiune Bu 18,000.00
auIn 14 X 11 X 6 fafluns
263 | Crevical Cage Titanium Size 14 X 11 X 7 mm. Taqeduanuudussewinudonsegndundaseiune Bu 18,000.00
WA 14 X 11 X 7 fafiuns
264 | Crevical Cage Titanium Size 14 X 12 X 5 mm. Faquasuauuduseseninaudeansegndundsssiune By 18,000.00
WA 14 X 12 X 5 dadluns
265 | Crevical Cage Titanium Size 14 X 12 X 6 mm. afaqasunnuudussssrindeansegniundiseduae u 18,000.00
W 14 X 12 X 6 dadiuns
266 | Crevical Cage Titanium Size 14 X 12 X 7 mm. Taqasuaraudwseseinldensegndundiszduae 3u 18,000.00
A 14 X 12 X 7 dadiuns
267 | Crevical Cage Titanium Size 14 X 12 X 8 mm. Faouasuauudauseseninesldensegndundiseduae Fu 18,000.00
A 14 X 12 X 8 fadums
268 | Crevical Cage Titanium Size 14 X 12 X 9 mm. JanaSuanuuduseseninudainsegndundssyiune By 18,000.00
A 14 X 12 X 9 Tadluns
269 | Crevical Cage Titanium Size 15 X 12 X 4 mm. TanuaSumnuudewseserinadeansegndundeseduae Bu 18,000.00
A 15 X 12 X 4 fiaduns
270 | Crevical Cage Titanium Size 15 X 12 X 5 mm. Faquadumnuuduseserinudeansegndundassiune u 18,000.00
N 15 X 12 X 5 fadiuns
271 | Crevical Cage Titanium Size 15 X 12 X 6 mm. FanasuauudusssewiUdonsegndundeseiuae Bu 18,000.00

uIn 15 X 12 X 6 daduns

Page 19




03020008  szuulRIasiiavnurdauazlavzanunsygnaunas
o 5101 (391 vat)
d1u Part Name Part Name (n1wnlne) Pidadee fionuae U
(Buw/ganeu) v
(Fu/yn/iéu)
272 | Crevical Cage Titanium Size 15 X 12 X 7 mm. Taquatuauudusesewinvdainsegniundsseduae B 18,000.00
A 15 X 12 X 7 fadluns
273 | Crevical Cage Titanium Size 15 X 12 X 8 mm. Jaqualuanuuduseseninudansegniundsseiuae Bu 18,000.00
UIA 15 X 12 X 8 Haduns
274 | Crevical Cage Titanium Size 15 X 12 X 9 mm. Faqadunnuudansssewiudeansegndundesssiune 3u 18,000.00
A 15 X 12 X 9 faduns
275 | Crevical Cage Titanium Size 15.5 X 12 X 5 mm. Faqadumnuudinseszwineldeansegndundeseiune B 18,000.00
A 155 X 12 X 5 fladuns
276 | Crevical Cage Titanium Size 15.5 X 12 X 6 mm. FaouaSunnuudiusiseninsUdeansegndundsseiune By 18,000.00
U 15.5 X 12 X 6 Jaduns
277 | Crevical Cage Titanium Size 15.5 X 12 X 7 mm. Jaqadunnuudiuseszwineldeansegndundssziune Bu 18,000.00
n 155 X 12 X 7 faduns
278 | Crevical Cage Titanium Size 15.5 X 12 X 8 mm. Faquaturnuudussseinadaanseandundasediuae Bu 18,000.00
WA 15.5 X 12 X 8 findiuns
279 | Crevical Cage Titanium Size 15.5 X 14 X 6 mm. Faquasumuudusessvindaainsegnduvdseduae By 18,000.00
WA 15.5 X 14 X 6 fiaduns
280 | Crevical Cage Titanium Size 15.5 X 14 X 7 mm. Faqasuauuduseserinadansegnduvdaszdune Bu 18,000.00
N 155 X 14 X 7 adums
281 | Crevical Cage Titanium Size 15.5 X 14 X 8 mm. FaaSuaruudausssewieldamsegndundaseiune By 18,000.00
A 15.5 X 14 X 8 fndwuns
282 | Crevical Cage Titanium Size 15.5 X 14 X 9 mm. Fanuaduarnuudwsesewinudonsegndundsseiune By 18,000.00

UM 15.5 X 14 X 9 dadiums

Page 20




03020008  sruuiTeslatILNIdauasTavzAnNsTgNEUAS
e 31A1 (574 vat)
d1iu Part Name Part Name (n1wlng) At Ao NanBwe
@Fwaandy) | x '
' (Fu/yn/idiu)
283 | Crevical Cage Titanium Size 15.9 X 12 X 5 mm. TaqaSurnuudussserinudanssgndundassiuae u 18,000.00
WA 15.9 X 12 X 5 fiaduns
284 | Crevical Cage Titanium Size 15.9 X 12 X 6 mm. Taquadunnuudausesenindansegndundsydune B 18,000.00
U 15.9 X 12 X 6 fadumns
285 | Crevical Cage Titanium Size 15.9 X 12 X 7 mm. Taquadumuudausisewieldensegniundsseiune Fu 18,000.00
WA 159 X 12 X 7 fiaduns
286 | Crevical Cage Titanium Size 15.9 X 12 X 8 mm. Taquadurnuudausesswieudeansegndundsseiuae B 18,000.00
WM 15.9 X 12 X 8 fiadiuns
287 | Crevical Cage Titanium Size 15.9 X 12 X 9 mm. Faquatumuudusisenihaufonsegniundsseduae 3u 18,000.00
1A 15.9 X 12 X 9 Tadwns
288 | Crevical Cage Titanium Size 15.9 X 13 X 5.5 mm. Taqaduanuudwsesznieldensegndundsseiuae 3u 18,000.00
uIn 15.9 X 13 X 5.5 faduns
289 | Crevical Cage Titanium Size 15.9 X 14 X 5 mm. Taquaiummuudausesenindansegndundsseiune By 18,000.00
UM 15.9 X 14 X 5 fadwns
290 | Crevical Cage Titanium Size 15.9 X 14 X 6 mm. Faqaduruudusisznitiomnsegndundsssdune By 18,000.00
WA 15.9 X 14 X 6 daduns
291 | Crevical Cage Titanium Size 15.9 X 14 X 7 mm. Faqualuauudusiseninufansegniundssedune By 18,000.00
W 159 X 14 X 7 faduns
292 | Crevical Cage Titanium Size 15.9 X 14 X 8 mm. Janaduruudusissuinudanssgndundsseiune 3y 18,000.00
uU1n 15.9 X 14 X 8 fiadiuns
293 | Crevical Cage Titanium Size 15.9 X 14 X 9 mm. Taquaiuanuuduseseninudeansegndundessiune Bu 18,000.00

UM 15.9 X 14 X 9 Haduns

Page 21




Cl ] 1o -4
03020008  suulAIasiiataLrtfauazlansAunTEgNAUNd
Lo 5101 (521 vat)
. v iy "
MY Part Name Part Name (a1w1lne) v y ABNUIY NUBLNE)
(u/gandy) | 2 -
) (Bu/ganeu)

294 | Cervical Plate Size 3.4 X 10 mm. wiulavgmunsygndunasdiune vu1m 3.4 X 10 Jaduns 1 30,000.00 | 1 4 Yszneuday

295 | Cervical Plate Size 3.4 X 12 mm. wiulaveaunsegndundsdiune Yum 3.4 X 12 Taduns L] 30,000.00 | weiv Plate 1 Fu

296 | Cervical Plate Size 3.45 X 12 mm. wiulavgmunsegnduvdsdiune wu1n 3.45 X 12 fadluns L 30,000.00 | Locking Nut 3 fu

297 | Cervical Plate Size 3.45 X 14 mm. wiulaveaunszandunddiune vuim 3.45 X 14 fadluns 9 30,000.00 | Screw 2 3u

298 | Cervical Plate Size 3.5 X 12 mm. wiulavemunseandundsdiune vuin 3.5 X 12 faduns % 30,000.00

299 | Cervical Plate Size 3.5 X 14 mm. wiulavzmunszandundsdiune vuin 3.5 X 14 Tadwns % 30,000.00

300 | Cervical Plate Size 3.5 X 16 mm. wiulangmunseandunasdiune vun 3.5 X 16 faduns 9 30,000.00

301 | Cervical Plate Size 4.0 X 12 mm. wiulanzaunszandundsdiune yun 4.0 X 12 Taduns n 30,000.00

302 | Cervical Plate Size 4.0 X 14 mm. wiulavgmunszgndunasdiune 1u1m 4.0 X 14 Jafuns 1 30,000.00

303 | Cervical Plate Size 4.0 X 16 mm. winlavzanunsegndundsdiune vutm 4.0 X 16 Taduns 0 30,000.00

304 | Cervical Plate Size 5.0 X 12 mm. wiulaveaunsegnduvdidiune wun 5.0 X 12 fafluns " 30,000.00

305 | Cervical Plate Size 5.5 X 12 mm. winlavemunszgndunddiune vuim 5.5 X 12 faduns 0 30,000.00

306 | Transverse Bar Locking Set Tavganunszandundauuunzvsiien 1) 10,200.00 | 1 g0 Usznaunae
Hook 2 3u
Locking Nut 2 ¥u
Rod 3.0 mm.
1y

Page 22




d . ] s s
03020008  svuulATasiiadreddauazlavzauNsEANTUNAY
_ 3181 (373 vat)
" wiieiu .
frdu Part Name Part Name (nwnlve) y sauuae L)
@uaandu) | »
@u/gandu)
307 | gunsal@iansyan O Fix Size 3.4 X 6 mm. Tanzaunszgnnstvandsuzifeusiansygnae vum 3.4 X 6 " 24,000.00 | 1 9n Usznouse
fadung @ O Fix 2 3u
308 | gunsaidiansegn O Fix Size 3.4 X 8 mm. TavzmunszgnnsgTvandsuyifousionsvgnae wun 3.4 X 8 m 24,000.00 | Locking Nut
fadwns 2%y
309 | gunsalfiansgn O Fix Size 3.4 X 10 mm. Tangmunszgnnseivandswrideusienszgnag yunm 3.4 X n 24,000.00 | Screw 6 3u
10 fiafuns
310 | gunsni@anszqniBansu Sacral Bar gunsniBansegnidansu Sacral Bar n 10,000.00 | 1 gm Usznausiag
wnu 1 %
Nut 4 Fu
Locking Nut 5 #u
311 | gunsaltiedmnsegndunds weSesdie Marvel gunsaitedansegndunds wiedle Marvel Tu 25,000.00
312 | gunsnivaedanszgndumds 1desie Bone Biopsy gunsaitiedansegndunds 13esile Bone Biopsy Tu 45,000.00

Page 23




